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julil 7.3 66 67 68 5 70 72 70 70 68 70 68 70
K| T-N(mg/1) 3.1 .9 1.8 28 1.3 32 48 4651 41 43 498 42 35

RIT-Pe/D | 0.27 0.20 0.16 0.25 0.13 0,24 0.98 0.35 0.27 0.28 0.35 0.30] 0.32
i |BODGe/1y| 88 44 49 48 23 36 79 75 33 48 43 49 5l
CODme/1)| 7.6 56 49 49 3.9 49 94 46 40 48 51 55 54

pH 7.9 6.7 68 69 7.6 68 7.2 69 70 68 Tl 69 70

B TN@e/D| 37 28 28 24 24 35 33 38 39 30 80 &1 41
Jﬁi}' T-Pmg/1) | 0.32 0.39 0.34 0.28 0.24 0.70 0.42 042 039 0.27 0.94 0.82] 0.4
7k 1 BOD (mg/ D) 0w 12 84 6.8 55 T4 3.9 47 53 61 19 24 0.4
COD(mg/V| 7.7 7.5 7.0 62 53 89 5% 57 51 50 12 13 T4

pi 77 68 68 7.0 7.6 7.2 74 174 73 10 15 TI1] T2

% |TN@e/D| 27 13 1.1 1 078 L1 L6 L3 L5 L% 12 L3 14

T-P(mg/1)| .53 0.23 0.16 0.10 0.11 0.13 0.20 0.090 0.15 0.11 0.098 0.067| 0.16
&= | BOD (ng/1) M 21 26 L1 Ls L9 23 16 LT LY 21 Lz 28
C0D (mg/1) W 61 66 44 44 53 68 35 41 42 39 35 52

il 77 69 1.5 80 81 74 74 12 T3 10 7.5 T2 T4
T-N (ng/1) 20 L1 12 't3 L2 1.3 11 L5 L0 L2 L3 0.95) L3
T-P(meg/1)| 0.24 023 012 0.25 0.26 022 014 016 0.12 @11 0.19 0.088 0.18
m | BOD (me/1) 7.4 94 45 55 61 36 23 40 22 31 A5 L5l &8
CoD{ng/1) 7.4 55 56 7.9 79 75 65 58 43 49 56 31| 60

pH 7.5 6% 71 T2 1.7 T4 7.6 13 74 12 15 L1 T3
% | T-N(mg/1). L3 L 1.4 18 067 26 L9 22 1.3 20 L& 12| 16
T-P(mg/1): 0.15 0.16 0.23 0.22 0.10 027 019 017 0131 017 G15 0.083] 0.17
2.0 24 L5 22 22 L% L7 298 27 121 21

W

= |BODGg/1) | 2.7 2.3
- | COD(mg/1) 5.0 6. 3 6.9 6.1 4.5 6.0 50 3.8 4.6 5.2 3.0 3.0 50
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